BF —i% (ASkm

NO K4 7Uh't Fhh Zi% E] B
13011 BRZE X 7y%7E073 43 R K (A)5km REARE T
2 1 BmH EKX 771 44 30 R K (A)5km XKEMBEE
33133 A EKX 198 Y38 32 B K (A)Skm JNC
4 3348 EWHY F@E 0 YFYUhYEY 38 BB K (A)5km GGRCHEX
5 2 a2 XK 3IVA773th 51 BB K (A)5km ZmmbERC

%? — % (A)EFH F3E10km

NO 2Uh T snre  ZER 23l i@
1 2028 1&53,% j:*u PIVIRED 23 B A (AEHFIE10km RUABER
2 3 " —5 s 32 BB K (ABWFEIOkm  RUFER
3 3199 TR #Hhth  YEEI Y 49¢ 25 RE K (AEHF:E10km ABi% SR 1T
4 3094 GEII Bt 9707 19% 22 R AR (AEHFEIOkm  FEA2BMIGHHE
53102 EA BE Y8 Wy 22 BB K (AEHFEIOkm  FA2BNIGHHE
6 3104 =@ & 755 95K 36 RE A (AEHFEIOkm  FEA2BMIGHHE
7 808 HIHE M&AER <I® 19509 20 BE K (AEHFE10km REERZEX
8 301 £\ E 195 hy M1 B &KX (AEHFIE10km AEARK
9 1234 L& KRE 192kk3 19x5 1 B B (AEHF:E10km AEARK
10 311 #8H =K V)7 MY 1 3 B K (AETFEIOkm REARXK
11 3341 KX F 7V 27 41 B K (AETHFE10km GGRCHEAX
12 3344 F& =H Mz 42k 32 # X (AETHFIE10km GGRCHEX
13 3345 &7k EEBA {740 bn7d+ 35 BB K (A)ERTH FaE10km GGRCEER
14 3346 FA =7 BEN 219 37 BB K (AETH F:E10km GGRCHEER
15 3348 EH RiA Yy hyet 38 HE AR (A)FESHFE10km GGRCHEX
16 3356 EE &t NCEEYES 20 # X (AETHFIE10km GGRCHEX
17 4 RE = kv Y19y 44 BE K (AETHF:E10km NJAC

— ) L
BF & (B)Skm

NO K4 7Uh'+ FE ZH E ] &
11653 U HE  yF 47 1 B K (B)5km BRS
2 1651 FMA &3 )4 vanhk 1 B XK (B)Skm BHE
31650 {fEM X NHE YIb 1 R K (B)Skm BHE
4 3219 S# B{Z 1L N 2 B K (B)5km TAY=b9-%

%? =2 (B)A T F:E10km

NO 72Uh T EHEE ”‘ﬁ 23l i@
1 1646 Lm %uira MYy hxs 2 HE X BEHFEIOkm BEis
2 1647 w2 YR 74 1 B A& (B)EAFEIOkm B
31649 ™A Eid IV 19y 2 B2 KR (B)ERTH FE10km B
4 2040 FA FE Tavane 15 B8 K (B)ERH FiE10km RS
51530 #HE =|iK 8 2% 2 B KX (B)EWFE10km e
6 1548 HFR =tB 4YyWayyoy 2 B K B)ETH F:#E10km s
72039 EAH FF bR V1Y 1 B X BEHFEIOkM bt
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BF b (C)4km
NO K% 7Uh't FE Ei&x LEH Bl
1 2611 BIE 2 YIZ )Y 1 R XK (C)4km REAR[E
2 800 M EFH LT ER% 2 R K (C)4km A=
3 802 #EA X DILT 1794 1 HE K (C)4km =i
4 803 BEAR KiE INEN 4% 1 R K (C)4km wLsh
5 804 R BEIE M o4 1 R XK (C)4km I
6 805 LR S 9INT IR 1 EE K (C)4km Il
7 806 hi BB +hh3 4%em 1 BE K (C)4km L F
8 807 HLt B 491 nLk 1 R K (C)4km w=Lsh
9 808 hi 185 Thh7 nivk 1 R XK (C)4km AI=s
10 809 Al E# wHFVIAF 1 B K (C)4km L F
11 735 RA HIE DTN 1 R K (C)4km 7 =
12 736 £F BEE 4TNT E0F 1 R K (C)4km [
13 737 KF e IxL773/77 1 B K (C)4km ] 7 =
14 655 BE BER A/3F 19k 2 HE XK (C)4km AETH
15 868 EAXR ik IvEh TY4 3 R XK (C)4km HA
16 5 FF R )/ SEY) 1 HE K (C)4km b e
17 6 L5 —1E 1) 1v% 2 HE XK (C)4km W
18 7 WE R wWih IVE 2 H K (C)4km b e
19 8 BEA X IYER 40 2 B K (C)4km HE
20 9 Al EZBE 1YFh en3s 2 HE K (C)4km W
21 10 Fik KR b9 448° 3 B XK (C)4km b i)
22 11 HAO = 49°F 1’ 3 R XK (C)4km b ichas
23 717 Al FEE 97h7 hoa 1 R K (C)4km LR
24 718 g &HC hJ9 AvE 1 R XK (C)4km LR
25 772 RHE EF—  th4VavdiF 1 B K (C)4km EEms
26 771 TH FE t3/ 493 1 B XK (C)4km BEms
27 689 HR —% 457 49 1 B XK (C)4km BEms
28 770  HiZ EBX It 194 1 B K (C)4km B
29 662  fEsk JE  MTH IV 3 R K (C)4km BRI AR g
30 663 fiE NME 71y a9t4 2 H K (C)4km I N PRV Aic] [
31 664 FrH E 5 YT 2 B K (C)4km REEATI RS
32 870 tHHA —#H T8 hA'h 1 FE XK (C)4km REEATI RS
33 872 /A (EKXEH HhEbivsmu 1 HE K (C)4km P N PRV A ] [
34 12 BIE R YIZ YN 3 HE K (C)4km AT RS
35 905 mE B 4471 <3t 3 HE K (C)4km HsK e
36 900 TH I3 YEY Vb 1 R XK (C)4km HsK e
37 897 FZEH = N IhY 1 B K (C)4km H 7k e
38 901 FE E&E FN TF 1 f XK (C)4km Hkeh
39 902 EIL RAE MYV 44% 1 B K (C)4km H sk &
40 904  de# fEX Y ISR VL] 1 R XK (C)4km H 7k e
41 13 EEAE w3 Y8 Nk 1 R K (C)4km EEHEME
42 783 W K= JVh7 4% 2 B K (C)4km &
43 784 R E hq hiA 2 R XK (C)4km &t
44 786 fhA RAEA h¥Tbavson 2 B K (C)4km &
45 787 bl 3 Th¥v vam 2 R K (C)4km &0
46 788 BK EZE bR YY) 2 R K (C)4km &t
47 785 WA R $hEH Y379 2 R K (C)4km &
48 789  Eith BIF h3F h4N 1 H K (C)4km R&EF
49 790 Hd {Zth 4+h v 1 B XK (C)4km &t
50 792 EHH ERB ah4" 97 1 B XK (C)4km &t
51 793 Rk =X Th4hyms 1 B K (C)4km &
52 794  #K BIK  ARFVIvsM4 1 B K (C)4km &0
53 795 i =—BER WY Yu4FOy 1 HE K (C)4km &t
54 818 Ax A TEN 429 2 R K (C)4km mpEh
55 819 Bl ahvv Yy 2 R XK (C)4km mpEH
56 814 K &k W Aoy 2 R K (C)4km mpES
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57 821 =5 EEE 4h) nb 1 F K (C)4km mEES
58 825  [BE AF& YN I9% 1 R K (C)4km R
59 841 KK 1§ ThEr Y29 2 B XK (C)4km Ry
60 840 L HE 4747 3N 2 R K (C)4km Ry
61 826 e &R} THhov 44 1 R K (C)4km Ry
62 828 Hd X 4+h Tl 1 R K (C)4km Ry
63 832 EHE KB IV HME4 2 R K (C)4km Ry B
64 834 AR K WE Va4 2 R K (C)4km Ry
65 835 HAE JEK E )ans 2 R K (C)4km i anas
66 836  ILIL AR 47¥va0t4 3 B K (C)4km Ry B
67 709 kK JBEE  AXENTENY 1 BB K (C)4km R
68 710 HE WE m i VL ks 1 B XK (C)4km REh
69 713 FHE IR ISR/ VAl 1 F K (C)4km REh
70 712 o BRE I Yo 1 B XK (C)4km REh
71 711 WHE #it hE4 ASY 1 BB K (C)4km B
72 667 AN hrivv 13 2 R XK (C)4km RE o
73 670 KL = WWrYaINE 2 EE K (C)4km RE
74 668 =25 4h3 Yy 2 R XK (C)4km R
75 330 ] Rib Yhe 44y 2 R K (C)4km NSAC
76 342 2t EKER  YrFh44ny 2 R K (C)4km NSAC
77 347 KK f@rE AITH MR 1 BB K (C)4km NSAC
78 328 Rk R AITH M) 1 EE K (C)4km NSAC
79 755 Ik EBE Yy 3% 2 R XK (C)4km BRETH
80 757 Tk BT VIR YAy 2 R K (C)4km RETH
81 759 T ER IVLT 4v% 2 R XK (C)4km HHET
82 760 EE #Hith DAFATVAY 2 BE K (C)4km HHETH
83 761 #h RE th4asame 2 B K (C)4km ERETH
84 762 oE & ah EMY 1 H K (C)4km HHETH
85 763 Pt = $7'% kAL 1 B XK (C)4km HHETH
86 764 A FEA 9k Yak 1 B K (C)4km BRETH
87 765 1EXR ERE NEN YL 1 R K (C)4km RETH
88 766 EEH &3 794 THb 1 H K (C)4km HHETH
89 14 gl £A YT Ny b 3 B XK (C)4km NJAC
90 3226 #BA &3t NEN NLR 2 R K (C)4km TA=t7-%
91 810 EFXB #dE  hrahvyy 1 B K (C)4km HE®
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BF /hF D)1km

NO K% 7Uh'+ FHE B LEH g
1 15 ME X L7hz 19484 5 H K (D)1km ET=R
2 16 CiR ) it/ Ly ] & 2 HE K (D)1km 7K R/
3 17 fml £E 9NV TUY 2 H K (D)1km ET[EN
4 18 W B wWwYEINAF 6 B K (D)Tkm 18
5 19 FH #& FI'T 2% 4 HE K (D)1km RUN7Y AR
6 20 RO K ¥4h49°F eat 4 HE K (D)1km RUN7YAb
7 21 Foh S JThyant4 6 HE K (D)1km RUN7Y AR
8 22 o &t JTh 19+t4 5 H K (D)1km RUN7YAb
9 23 iz G —Vkh Va5 B K (D)1km RUN7YAb
10 24 faE BEX —Vth Yo 3 R K (D)1km RUN7Y AR
11 25 byt TEE VAT YIDAY 5 BB K (D)Tkm RUN7Y AR
12 26 it 1A YAEM 279b 3 R K (D)1km RUN7Y AR
13 27 #A K T4 8428 4 B K (D)1km RUN7Y AR
14 28 AL g DFYY 4y 3 H K (D)1km w=LLFED
15 29 B Mt Y TUb 5 H K (D)1km Ry RN
16 30 mE ZE Y9797 5 B XK (D)1km Ry
17 31 B OkE EDY 344 5 HE K (D)1km Ry
18 32 BEAR KER IFE 407 5 H K (D)1km Ry
19 33 IRA B HhEM 7HE 5 H K (D)1km Ry
20 34 B 1R VIR AN 5 H K (D)1km Ry
21 35 E# A% tnt 1%9% 5 H K (D)1km Ry BRI
22 36 HE BB JMYIYN4FOY 4 B K (D)Tkm RyBEi
23 37 Eih BBKER vV v4409 4 EHE K (D)Tkm RyEIN
24 38 L B1E I 1927 4 BE K (D)Tkm RyEIN
25 39 NE #H hohz an 4 HE K (D)1km Ry
26 40 RE BEX an I44 4 HE K (D)1km Ry
27 M ME BX 1593 A94 6 H K (D)1km REAREELE
28 42 ME FEX 1593 )24 3 HE K (D)1km REAREELE
29 43 BEKR FEKER JVEb M40 6 B K (D)1km REARERMEEL
30 44 AR i 15Eh )7 4 H K (D)1km REAREELE
31 45 2R AR Yl NILE 3 R K (D)1km REAREEL
32 46 B2 X FIVR 44k 5 H K (D)1km KURS
33 47 it 1KE Yy A3 1 HE K (D)1km KURS
34 48 HHE |- L7%9194F 3 H K (D)1km KURS
35 49 T FE AVL7 11 4 HE K (D)1km KURS
36 50 hE fFm Tht 3% 5 H K (D)1km KURS
37 51 AKE BEA wovan Yk 6 BB K (D)1km KURS
38 52 *B EE 434 Y% 4 H K (D)1km KURS
39 53 BT ZEX 1993034 2 HE K (D)1km KURS
40 54 Pl EEk NEYYMEY 4 EE K (D)1km KURS
41 55 ¥R R} 117 tok 6 F K (D)1km NSAC
42 56 JERM REtE nmdthaovEg 5 RE K (D)1km NJAC
43 57 SR Ak 4h7 )aot4 2 H K (D)1km NJAC
44 58 aH HE 194 19} 1 B K (D)1km NJAC
45 59 the BZE 141Ky Y7 1 B K (D)1km NJAC
46 60 )1l #X YA 194 1 HE K (D)1km NJAC
47 61 AH &A A#44 ant 4 HE K (D)1km TRY=b7-%
48 62 2K HWE Jn% 797 6 A & (D)1km TAY—=r7=9
49 63 BAX & NER )37 6 H K (D)1km TAY=+I=%
50 64 B’ OKHE EN'Y 44F 6 H K (D)1km TAY=FI=4
51 65 B’ f#EX Eh'Y a4 2 R K (D)1km TAY=FI=4
52 66 FHE &3 L34 179 5 H K (D)1km TA)—=t7=%
53 67 B B VAN THA 1 R XK (D)1km TA)—=r7=%
54 68 ST IR 47¥V T 4 R K (D)1km F— LR
55 69 EH # YT A% 1 R K (D)Tkm F— LK
56 70 no A hI9F Y 6 R K (D)Tkm F— LK
57 71 K¥ FERE IxLT 80/ 4 BB K (D)1km F— LB
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ZTF —fi% (A)3km

NO K% 7Uh't Fip Bk LEH Bl
1 1 g #5655 ks 3N B K (A)3km KRCRC
2 2 B SEBEFE O WLATIUE 34 R K (A)3km REARTHER
3 3 BB GBEE IVt 24 HEE K (A)3km REARTH BE

ZF HF (C)3km

NO K% 7Uh't FE Ei 2 Al FilE
11368 #tE EHKF L7h3 33 BE K (C)3km HKmE
2 617 il ZEF hot % 742 B2 K (C)Bkm E Il
3 618 hiE EF Thny 743 e K (C)3km EINes
4 619 EE Eib D4FA" ¥3 e K (C)3km L
5 620 FAX R IVEN Y B2 K (C)Bkm L e
6 624 1§EF EI0 MV A B2 K (C)3km L
7 626 EME DE P34 133 B2 K (C)3km L &
8 627 Frop LK JTh 14 B2 K (C)Bkm L
9 628 FHH BME EVZ K B2 K (C)Bkm L e
10 629 =B EfE 7993 hik B2 K (C)3km e
11 630 BHAR Tt Y34y nh e K (C)3km 2t
12 1365 i &R VLAWY ) g K (C)3km EINes
13 587 ME Ex AN T3 BE K (C)3km Z [ h
14 593 @& %EA “Yh7 3% B2 K (C)Bkm [
15 596 K& H ISR B2 K (C)3km [
16 599  IRHF FE #h4 7xh B2 K (C)3km — [
17 600 B &HH at% 73 B2 K (C)3km Z[h
18 601 o =7 YIUF ht/ e K (C)3km Z [ h
19 602 AHB EH 144 33 e K (C)3km 5 [ =2
20 1354  ixHE #0it #h4 43 B2 K (C)Bkm HEH
21 1357 BB ME 7993 7% B2 K (C)3km HEH
22 572 =@ Ik 97 14 B2 K (C)Bkm IR
23 573 KUE F#F  FAyv)H¥3 e K (C)Bkm LR
24 574 EE F=E Y)9h FI e K (C)3km IR
25 575  TIB #hHF IY°Y 193 B2 K (C)Bkm IR
26 517 % FE %/ 319 B2 K (C)3km FErE
27 518 211 #0 VLR KN B2 K (C)3km FErE
28 521 E IR L% Y%t B2 K (C)Bkm FErE
29 519 EA 1EE 34 EMh B2 K (C)Bkm FERE
30 476 {EH B AWEZ ML) e K (C)Bkm REATIIARG
31 477 KU E%x ¥vv 197 B2 K (C)3km RERTHII AR
32 475 hEF HARK Th) ®I BE K (C)3km REARTHII ARG
33 479 HE % 450 7%/ e K (C)3km REART I ARG
34 478 BT k% ZWIIN B2 K (C)Bkm REEART I ARG
35 731 A+ = *47 37 B2 K (C)Bkm REARTHII ARG
36 732  KH¥ #HF *47 143 B2 K (C)3km REARTI AR
37 7133 BX #HET YhEM $ B2 K (C)Bkm REATIIARG
38 734 IO #Z I9'F 1t e K (C)Bkm REARTMI AR
39 676 THH % 7048 1R'% B2 K (C)Bkm Hk e
40 686 Bl %= 33vv 744 e K (C)Bkm HK e
41 563  LE# TE3L 9ILF By e K (C)3km R&ET
42 564 Il Eid Thh'D 193 B2 K (C)Bkm R&Eh
43 565 HF ¥ 17 7%/ e K (C)Bkm K&k
44 566 H EBEXE 494 3+ B2 K (C)3km K&k
45 567 B K Y% 1971 g K (C)3km K&t
46 568 LUy FTALRZE  Y¥F 3 B2 K (C)3km R&EH
47 570  HII = VA7 93 BE K (C)Bkm R&Eh
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48 1370 fRIB HE{K 7993 74 1 F K (C)3km K&t
49 648 JNE R3%E hnJ 354 2 R XK (C)3km W
50 649 @A EA £7% 1'% 2 HE K (C)3km miE
51 650 #H EZT 1904 39 2 R K (C)3km mpEsh
52 651 25 BE so¥E L 2 BB K (C)3km &
53 652  {Efik EBE VIVIRVES 1 HE K (C)3km R
54 653 A By Y4 12 1 R K (C)3km R
55 740 BHEF U= 4hty 4 1 R XK (C)3km mEh
56 647 alFE 117 % 2 B K (C)3km W
57 742 FH EE E74 #¥h 1 R K (C)3km mEsh
58 741 fask faE MTh TYA 1 R K (C)3km W
59 657  Jtik A& THh $y 1 HE K (C)3km mEES
60 713 XA =Kk Y8 M 2 R K (C)Bkm Ry
61 714 &L &= DaFTA T 2 R K (C)3km i anas
62 696 =K KB 4h% 1Y 2 R K (C)3km gy R
63 697 MWH %XT 9F5 ThY 2 R K (C)Bkm Ry
64 698 2R Eis h5%h LY 2 R K (C)Bkm fRo B
65 699 WA HE YA Y1) 2 B XK (C)3km i tdadas
66 700 HL EN ahvvY t9+ 2 B K (C)Bkm Ry
67 701 AN KE 4-h'may) 2 K K (C)Bkm Ry
68 711 ¥IEA [&EE YHEYETS 2 BB K (C)3km Ry
69 710 BE tiE E4h 3 2 B K (C)Bkm Ry
70 542  GE) $53 9747 17 1 B K (C)3km HEprh
71 543 B EX 4FN'+ 15 1 R K (C)3km HEh
72 544 fm EDx /W 1 B K (C)3km HErh
73 546  JEiE ISER DaFA" LT 1 HE K (C)Bkm RE o
74 547 K ZER T7% 3% 1 HE K (C)3km R
75 548 fE 2 L3h3 744 1 F K (C)3km REh
76 549 /AR HIK anNyy a4 1 HE K (C)3km R
77 550 HAE =W Wt Y 1 F K (C)3km RE ot
78 481 PR FE NA'E Y= 3 R XK (C)3km B
79 613 == IILT::] Thhm 7 1 HE K (C)3km HHETH
80 492 =@ i 97 Tt 2 B XK (C)3km T &R R
81 745 HEF #EFE 93/ 1¢F 1 R K (C)3km T ZEm e
82 747 h¥ X5 Th) 1 1 HE K (C)3km T
83 749 me = NYR )Y 1 f K (C)3km T 2k
84 750  #Ak 2K wWih a4 1 R K (C)3km T &
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Z¥+ /ME (D)1km

NO K% 7Uh'+ FHE B LEH Bl
1 4 BIE @ YIf Y 2 HE K (D)1km B&E /I
2 5 TH B Ve s 4 HE K (D)1km H 7K 7N
3 6 mE R myi R W 2 R K (D)Tkm JLERER /N
4 7 ¥H —71t 5 41Fh 3 R K (D)1km RUN7Y AR
5 8 o % YWFTH4 3 B K (D)1km RUN7YAb
6 9 He IniE 41h X% 3 R K (D)Tkm RUN7Y AR
7 10 WE ES w7V b 6 R K (D)1km Ry BRI
8 11 Mok St 17 en) 6 B K (D)Tkm RyBEih
9 12 B Eff Y04 v1 6 B K (D)Tkm RyEIN
10 13 EH BERx NS WA 6 H XK (D)1km RByrREIN
11 14 FfE EE ThI WAy 5 R XK (D)Tkm RyEIN
12 15 faE Tt Y97 Nt 5 R XK (D)1km Ry
13 16 %A R 908 TR 4 B K (D)1km RyEIN
14 17 IR #7 hI9F 7X) 4 H K (D)1km Ry
15 18 WA TR YVES T4 4 R K (D)Tkm RyEIN
16 19 HFKR BN TEN Y/ 4 HE K (D)1km Ry
17 20 R TLAE  JIVENTTH 4 HE K (D)1km REARER[EL
18 21 BA ER 7V°Eh 29+ 3 HE K (D)1km REAREELE
19 22 L+ M@ BATE 9I4 pED 6 H K (D)1km REAREELE
20 23 @A & 9I4 3/ 5 f & (D)1km REAREELE
21 24 EE B»wE MV LA 6 H K (D)1km REAREEL
22 25 25 E£¥H o479 39 5 H K (D)1km KURS
23 26 MR TA4FTT TN TT7 5 HE K (D)1km KURS
24 27 AR Kb 4717 97 3 R XK (D)1km KURS
25 28 HE & eIV 6 H K (D)1km KURS
26 29 A ERE YhEM 7V 5 H K (D)1km KURS
27 30 Ml B L3%v nt 5 H K (D)1km KURS
28 31 & FE IV4L7 FEA 6 H & (D)1km KURS
29 32 HE YE#HFE T4h 1Y 3 R K (D)1km KURS
30 33 BT BE 19948 4+ 5 R K (D)1km KURS
31 34 NG EE 1% YUk 6 H K (D)1km KURS
32 35 =28 Y 4h7 AR 4 R K (D)1km NJAC
33 36 e AH 14K 347 3 B K (D)1km NJAC
34 37 A S YIEN I 3 R K (D)1km NJAC
35 38 P 1594 397 3 R K (D)1km NJAC
36 39 BO M| NNYFHIT 1 BB K (D)1km NJAC
37 40 AH Bt w8 Ity 6 H K (D)1km TAY—=r7=9
38 41 TH Ti#EZE Vaz i 6 F K (D)1km TAY=FI=4
39 42 oL ek TEYV HI3 6 H K (D)1km TAY—=r7=9
40 43 Al xXAx hoNy ++ 6 R K (D)1km TAY=k7=9
41 44 B DB Fibt L1 6 F K (D)1km TAY=rI=4
42 45 FEH bEtE 7V°4 Fht 6 FHE K (D)1km TAY=FI—4
43 46 FBRHF L=FD VEREY 3 R K (D)1km TAY—=r7=%
44 47 thE & 14§y % 5 H K (D)1km TAY=FI=%
45 48 A+t B ¥L7 vEN 5 f X (D)1km TR)—=r7=9
46 49 h¥ HEX +h) 73 5 R K (D)1km TAY=F7=9
47 50 EH #F U8 HE 3 R K (D)1km F—LEE
48 51 LEXRB EA i ¥t 3 R XK (D)Tkm F— LK
49 52 CIES L YILG V& 3 R K (D)1km F—LEE
50 53 o s h9'F %+ 3 R XK (D)1km F— L
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